N = 0l & At & M A

201789 = S0l& LB AFSHTFAHA

SA: aET

3
g BN & YR
tel: EUsI 23 CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AFEHTE A 2,694,633 310,700 2,383,933
< 1,400,000
Al 1,294,633
S 2 I 2,661,211 278,488 2,382,723
< 1,400,000
Al 1,261,211
ENsX &3 2,661,211 278,488 2,382,723
< 1,400,000
Al 1,261,211
JgsX s XA 2,661,211 278,488 2,382,723
< 1,400,000
Al 1,261,211
201 2et24d] 103,009 103,684 AB75
01 At 221 60,992 59,416 1,576
Oger=EH| 50,700
—AMHHT IR SR M=
5,000& *4,000% 20,000
—MAEX LRI EE 2D(2F, HolE
g) 10,000, 000& »24! 20,000
—MAET IR EEZE EAIIE(H)
100,000 » 1504 2 1,500
—MAET IR EEE EAIIE(D)
50,000 *200H 2~ 1,000
—&E =28 S HH 2,000,000 » 14 2,000
—SXA EXNRI EEE PPT M
2,000,000& » 14! 2,000
-SRI H2E s8I Xz
350,000& =1+ 12& 4,200
O= &l 5,292
—MAHTX JIYSX 24s =& S|
,000& 9 x73| 128 5,292
Oogxtz 5,000
—MEHX EXNRI 25 FH ¥ HA X
s S 1,000, 000& *53| 5,000
02 Z=2Z4l 9,017 2,268 6,749
OFNRX 882 ¢& 2= 8,568
—2tte = 2703 5004 =128 1,620
=P A=] 1,930& 30021 x12& 6,948
OJIgRX |23 A4 CHY AEE
37,4002 128 449
03 A2 S HI 33,000 42,000 A 9,000
OJIgKX EXsa3Lds Ha 22,000
—HANE AES (AU ZEF)
15,000, 000& 14! 15,000
—z3% & g% S MNH
3,000,000& » 14l 3,000
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2N

AT E A
M &% 2 JIgsA
Sl EXNRX BE CERED
2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
—BHAYXZE 2,000,000 » 14! 2,000
~YWH2NE S Y UMD
2,000,000& » 14! 2,000
O=NE S MHE2Y sE282A 2F
2,000,000& x43| 8,000
OEXsdLYs s20s M
3,000,000& » 14 3,000
202 oddl 66,402 67,004 A 602
01 = LH o4 1l 66,402 67,004 A 602
O=UW0 bl 66,402
— M LR BS 20H (==
g) 210,800& x9H «353| 66,402
203 YR FXH] 9,000 9,000 0
03 Al =X A2 =XH| 9,000 9,000 0
OJIgRX ZRF& & 10,000,000 » 14! x90% 9,000
301 LEtE A= 52,800 68,800 A 16,000
09 HALAHIE& S 22,800 18,800 4,000
OFEXsFLHE: & FAX adl 24 22,800
—AgE, 58 ENSILHS
30,000 80X 83| 19,200
— 5N S NE EERA 29
30,0003 x10H 123 3,600
MIIEE43 30,000 50,000 220,000
SN2 LA SSH (2,010 S)
2,500,000 1H «12& 30,000
303 Z &3 30,000 30,000 0
01 L4323 30,000 30,000 0
OJIERX S3X HEE K=
3,000,000 =104 Il 30,000
402 RI2EXt20l ™ 2,400,000 0 2,400,000
< 1,400,000
Al 1,000,000
02 22t X2 AL E X (01X THE) 2,400,000 0 2,400,000
OSZHSIBAAHT FRINY SRANEXZ
A& (5001) 2,000,000, 000& 14! 2,000,000
< 1,000,000
Al 1,000,000
OSZAMctULHAAHIT EXNIY LdANEXS
A& 200,000,000 201 I 400,000
= 400,000
HH2YZH (M TFMA) 33,422 32,212 1,210
Jl2Zl 33,422 32,212 1,210
Jl2dl (Mg eXEa) 33,422 32,212 1,210
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0
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RS EEN
AU (MK E YA
=3t
= _ — d =
SA - BB B () - MM - BES Ol &t o e
201 Le-2d| 13,442 12,232
01 At 22l 13,442 12,232
Oget=gHl 8,150
—Jl= ARES 100, 000& x9H 900
—Jl2 & 254l 150,000& 12 150
— =AM EH 150,000 =10 63l 900
—SAMI &Y 330,000 = 1CH =32 990
— SAMEX 20,0003 x10 A %128 2,400
— WAl EYH 110,000 = 1CH 43| 440
—diold T2l EUY 237,000 *2CH x53] 2,370
O= &l 5,292
— A S204d] 7,000 9«73 128 5,292
202 oddl 17,280 17,280
01 SLHOIYI 17,280 17,280
OuargdeXIgza XA 2L 0l
20,000 *9H »83| «12& 17,280
203 YR =&l 2,700 2,700
04 FN2IELSZ=TH| 2,700 2,700
OuFHINIMY EA2H=AH|
250,000& » 12& x90% 2,700
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